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TABLE II. Systematic uncertainty on the predicted event rate at
the far detector.

Source (%) Uy Ve Uy D,

ND280-unconstrained 0.7 3.0 08 3.3
Cross section

Flux and ND280-constrained 28 29 33 3.2
Cross section
uper-Kamiokande detector systematics 3.9 2.4 3.3 3.1

Final or secondary 1.5 25 21 25
hadron interactions
Total 50 54 52 6.2
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Table 6.6: Detector systematic uncertainties parametrized as a function of the muon true momentum
and angle with respect to the Z direction.

Detector configuration | Momentum / cosf | 0< p<0.5GeV/c | p>0.5GeV/c
-1<cosf<-0.6 20% 20%
FGD1, FGD2 -0.6 <cosf <0 50% 60%
0<cosf <+0.6 30% 50%
+0.6 < cosf < +1 9% 2.5%
-1<cosf<-0.6 9% 2.5%
SD -0.6 <cosO <0 9% 2.5%
0<cosf <+0.6 9% 2.5%
+0.6 < cosf < +1 9% 2.5%
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